
44

ELECTROLUX OUTDOOR PRODUCTS

The Electrolux Group.The world’s No.1 choice.

brand TALPA-MEPPY                                                            date JAN/02 SHEET 1/2

Model Product number

 TALPA 370   MEPPY                                                                    9538752-36                9538751-79

 

www.ersatzteil-service.de

Ihr Ersatzteilspezialist im Internet



ELECTROLUX OUTDOOR PRODUCTS

The Electrolux Group.The world’s No.1 choice.

Pos PN ELX PN MEP Q.ty Note[ [Pos PN ELX PN MEP Q.ty Note[ [

brand TALPA                                    date JAN/02 SHEET 2/2

TALPA MEPPY 370

1 531205422 10 1286 83 1

2 531207408 10 6513 00 1

3 531205267 10 1226 83 2

4 531205261 10 1226 61 1

5 531207923 10 8761 03 1

6 531207937 10 8780 00 1 Ø 3.9x16

7 531205273 10 1227 30 1

8 531205326 10 1233 80 1

9 531207409 10 6514 00 1

10 531204960 10 1157 03 4 M6

11 531204961 10 1159 00 4 Ø 6,5

12 531207842 10 8308 00 4 M6x40

13 531205280 10 1227 71 1

14 531204922 10 1142 00 20 Ø 8

15 531208585 20 3823 00 4 M8x2 0

16 531208599 20 4049 00 9 M8

17 531205293 10 1229 90 2

18 531208769 20 6551 00 6 TE M6 x 16

19 531205247 10 1226 21 1

20 531205290 10 1229 20 2

21 531205196 10 1217 00 5 M8 x 35

22 531205291 10 1229 73 1

23 531205304 10 1230 81 1

24 531208657 20 5012 90 2

25 531206629 10 2447 00 1 14/29

26 531204907 10 1009 00 2
WOODRUFF

4x6,5

27 531207981 20 1062 00 9 8/E

28 531207982 20 1063 00 10 M8

29 531204421 09 1235 20 1

30 531205253 10 1226 31 1

31 531207978 20 1017 00 1 M10

32 531208974 30 1021 00 2 Ø 10/E

33 531207989 20 1130 00 1 Ø 30/10

34 531205243 10 1225 90 1

35 531205286 10 1228 70 1

36 531208586 20 3853 00 4 M8x 25

37 531204905 10 0691 00 2 M8x 45

39 531205275 10 1227 53 4

40 531205297 10 1230 43 2

41 531205271 10 1227 10 2

42 531205270 10 1227 03 2

43 531208499 20 2866 06 8 Ø 6/E

44 531207165 10 5012 00 10 M6

45 531205292 10 1229 80 2

46 531208008 20 1205 80 1 Ø 3/8" UNF x 37

47 531205295 10 1230 20 1
Z17 3/4

(10x450 Li)

49 531205332 10 1235 70 1

51 531207120 10 4274 00 1 Ø 4,8 x 13

52 531205276 10 1227 63 1

53 531205296 10 1230 30 2

54 531205256 10 1226 43 1

55 531205269 10 1226 93 1

56 531204876 10 0239 03 1

57 531207105 10 4076 00 1 M8 x 70

58 531205288 10 1228 93 1

59 531205328 10 1234 20 1 M4 x 45

60 531205300 10 1230 70 1

60 531205096 10 1210 10 1
B&S CLASSIC
mm 1150/48

61 531208490 20 2805 00 1 M4

62 531207170 10 5012 50 1 Ø 4/12/1

63 531207128 10 4801 00 1 Ø4E

64 531207122 10 4289 00 2 Ø 10/21/2

65 531208491 20 2818 00 4 M6 NYLON

www.ersatzteil-service.de

Ihr Ersatzteilspezialist im Internet




